
1

. 1
(10 نمره)

5 ب . 4 الف .
7 د . 6 ج .

پاسخ :

. 2
(10 نمره)



2

ب . الف .

گزینه 2 و 3 د . ج .

پاسخ :

. 3
(10 نمره)

ب . الف .

د . ج .

پاسخ :



3

. 4
(10 نمره)

پاسخ :

. 5
(10 نمره)

پاسخ :



4

. 6
(10 نمره)

9 ب . 8 الف .
15 د . 12 ج .

پاسخ :

. 7
(10 نمره)



5

ب . الف .

د . ج .

پاسخ :

. 8
(10 نمره)



6

3 ب . 2 الف .
9 د . 8 ج .

پاسخ :

. 9
(10 نمره)

ب . الف .

د . ج .

پاسخ :



7

. 10
(10 نمره)
کدام گزینه صورت باز شده توانی عدد 5062 را به درستی نمایش یدهد؟

ب . الف .

د . ج .

پاسخ :


